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import java.util.Scanner;
public class Othello01 {
static byte yx;
static boolean place = false;
public static void main(String[] args) {
Scanner in = new Scanner (System. in) ;
byte[][] |sh| = new byte[8][8];
ishi[3][3]=ishi[4][4]=1;
ishi[3][4]=ishi[4][3]=2;
(ijn% end=0; //RT 7545
)
108.2.2. 6550201
System. out. print (" x:”);
for (int m=0 ; m<8 ; m++) {
System.out.print (" “ + (m+1) + 7 7);

System. out. print ("¥ny “);
for (int m=0 ; m<8 ; m++) {
System. out. print (” “);

System. out. printin();
for (int n=0 ; n<8 ; n++) {
System. out. print (n+1) ;
for (int m=0 ; m<8 ; m++) {
if(ishi[n][m]l==1) {
System. out. print (" | Q") ;
}else if(ishi[n][m]==2) {
System.out.print(" | @”) ;
lelsef
System.out.print(" | ”);

System. out. print (" | ¥n ) ;
for (int m=0 ; m<8 ; m++) {
System. out.print (" | __");

System. out. printIn(" | ”);

}
//iririrdzooé%iririr
int x,y;
do{
System. out. print ("x:”);
X = in.nextInt()-1;
System out. print (" y(9‘(?kif) “),
y = in.nextIntQ-1;
Jwhile(x<0 || x>8 || y<O || y>8 || ((x!=8 && y!=8) && ishilyl[x]!=0)); //F TIZE&HINHAILEITHL
if(x==8 || y==8){ //®T 737 TX, yh87R 5 ZERINGED T
| end = 8; break;

do{
System. out. print("O:1. @2+ + - 7);
yXx =in. nextByte () ;

Jwhile(yx!=1 && yx!=2);

74.2.2.¢358 0.0 ¢

byte self = yx;

place = false; //aALtine, —ER-2E=6E8ITLEITS
getlshi (ishi, x,y, self, true); .

if(place == false) { /] % DI ATIEEENBRNL N IGE

for (int m=0 ; m<8 ; m++){ //£&~< X %check!
for (int n=0 ; n<8 ; n++) {

if(ishi[ml[n]!=0){ //‘BHELLL\GFRDAcheck!
continue;

}

getlshi (ishi,n,m self, false);

if(place == true) { //ExnéEz‘N: MNIHBME S, BNAENEWVTRIIEE FEW
|

IZH 5
System. out. printin(’ Hxi’téE/J\if HUEFT ),
break;

if(place == true) {
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break;

]
if(place 1= true){ //BRNAGEHNEIZHEWELEL
ishilyl[x] =yx;

]
}while (end<8) ;
static void getlshi (byte[1[] ishi, int x, int y, byte self, boolean check2) {

get (ishi, x,y, self,-1, 1, check2); //ET
get (ishi, x, v, self, -1, -1, check?2); //&£t
get (ishi, x,y, self, 1, 1, check?); //BT
get (ishi, x,y, self, 1, -1, check?2); //&Lt
get (ishi, x,y, self,0, -1, check?); //Lt
get (ishi, x,y, self,0, 1, check?2); // &
get (ishi, x,y, self,-1, 0, check2); //&
| get (ishi, x,y, self,1, 0, check?2); /]G
static void get(byte[][] ishi, int x, int y, byte self, int a, int b, boolean check2) {
int x} = x+a
int =

|f(x1> 0 && y1> 0 && x1<8 && y1<8) {
byte teki = (self==1) ? (byte)2 : (byte)1; .
if(isf;i [y11[x1] == teki) [ //#x%E & B L THUERD < X %check!
x1+=a;
y1+=b;
while (x1>=0 && y1>=0 && x1<=7 && y1<=7) {
if(its)hi [Kﬂ x1] =0 { //BEHLEITHIEEELL L
reak;
lelse if(ishilyl][x1] != tekl){
glaci =true; //BEDELIZEDDELNHIE
rea

x1+=a;
y1+=b;

]
if(pl?ce::true && check2==true) { //BE DV E AL B IRRE L
x1-=a;
y1—=b;
while(ishily1][x1] == teki) { /BB T ERT
ishilyll[x1] = self;

x1-=a;
y1-=b;
ishilyl[x] = yx; //ZEE N5
place=false; J/BB L T-5F0EERT TV ELEDgt 0 EHTEERLTLED
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